ARNTEREFSREHZFHT - AOKER

TR28F 11 ARIRE
Erk28FE11AXH 5% HIA R
THH 5 5 % 2 X5 THHE 5 z H
BAAERARD 28,725 35,974 38,626 74,600 BARAERAO 28,678 35,958 38,587 74,545
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KZENTAB 28,914 36,253 38,851 75,104 KENHAQD 28,866 36,237 38,813 75,050
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K2R EHEL 196 215 271 486 FEFTHT 172 177 205 382 H&EATH 87 103 117 220 WILEARTHB 202 293 300 593
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AR HAR W 95 98 136 234 FaET 181 216 254 470 HEEZTH 249 328 331 659 BWILENTHE 11 11 17 28
KE 891 1,014 1,058 2,072 il 16 24 29 53 HEB=TH 8 9 9 18 BUE+THE 240 353 361 714
At 2 FE Hhisg dzE 476 516 539 1,055 fin B thig chET 36 32 40 72 HEBMTH 0 0 0 0 wea+—TH 220 323 335 658
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ERAE) &g AEN&—~mTH 785 952 1,051 2,003 ERE_=-TH 285 332 342 674 HEBATH 302 312 360 672
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HBEA Hhig HmES 2,293 3,359 3,435 6,794 Lz k 33 20 37 57 KENE=ZTH 345 420 481 901
LA Hhig wIlUE 1,401 2,011 2,032 4,043 it 41 48 52 100 KZEINEWMTH 0 0 0 0
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1T I 4 AR X HE 5 = i HERE 97 100 109 209 KEINEATH 0 0 0 0 EmE&E=TH 140 147 168 315
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LIH6e&E 151 173 204 377 L 2 ITFF 16 17 21 38 BEBANTH 328 589 558 1,147 =1 2,372 2,719 2,949 5,668
+R7%& 65 86 81 167 = 11 13 12 25 B\EEtTH 279 323 338 661
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